Two comments by Ron:

1. For sustainability type questions, it is only the actuarial approach that is really relevant. The other kinds of valuation relate to what the pension is worth to the recipient, but not to what it costs the govt to provide it etc.

2. Any balanced transfer system, including pensions, health care provision, etc., will nonetheless be affected by population aging in the sense that the terms will become less favorable (unless it is a downward transfer or an age neutral one). So it might be useful to distinguish two different components of a sustainability measure or other kind of indicator: one component due to demographic change, and another due to fiscal imbalance (systems that have no plans to adjust to the changing demography, or that woiuld be out of balance even with no demographic change). These components would either add or multiply to give the total indicator value.

